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ÿoˆÁTˆEı YÁPˆy‘] (B.D.P.) 

◊`l˘Á[˝bÔÁ‹ôˆ YÃ[˝›l˘Á (Term End Examination) 

◊Qˆ„a∂ëˆÃ[˝, 2015 C L«X, 2016 

B◊¨K˜Eı YÁPˆy‘] ( Elective ) 

c˜O◊Tˆc˜Áa ( History ) 
aä] Yy (7th Paper : Modern Europe) 

a]Ã^  f ªJÙÁÃ[˝ H∞RÙOÁ Y…SÔ]ÁX  f 100 
Time : 4 Hours Full Marks : 100 

( ]Á„XÃ[˝ mÃ[˝”±ºˆ  f 70% ) 
(Weightage of Marks : 70%) 

Y◊Ã[˝◊]Tˆ C ^UÁ^U =w¯„Ã[˝Ã[˝ LXÓ ◊[˝„`b ]…_Ó ÂVCÃ^Á c˜„[˝* 
%£à˘ [˝ÁXÁX, %Y◊Ã[˝¨K˜~TˆÁ A[˝e %Y◊Ã[˝õıÁÃ[˝ c˜ÿôˆÁl˘„Ã[˝Ã[˝ Âl˘‰y X∂ëˆÃ[˝ 

ÂEı‰ªRÙO ÂXCÃ^Á c˜„[˝* =YÁ„‹ôˆ Y“‰`¬Ã[˝ ]…_Ó]ÁX a…◊ªJÙTˆ %Á‰ªK˜* 
Special credit will be given for accuracy and relevance 

in the answer. Marks will be deducted for incorrect 
spelling, untidy work and illegible handwriting. 

The weightage for each question has been 
indicated in the margin. 

1* Â^-ÂEıÁ„XÁ V«◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX  f 20 × 2 = 40 

(Eı) ""Z–ıÁ„≥a Y“ÁEÀıı-◊[˝Y¿[˝ `ÁaX[˝Ó[˝ÿöˆÁÃ[˝ Y“W˝ÁX V«[˝Ô_TˆÁ ◊ªK˜_ 
y”◊ªRÙOY…SÔ %UÔ[˝Ó[˝ÿöˆÁ'' (mQˆ=c˜OX)* ]‹ôˆ[˝Ó◊ªRÙOÃ[˝ ^UÁUÔTˆÁ 
YÃ[˝›l˘Á EıÃ[˝”X* 

(F) ◊\ˆ„Ã^XÁ a„∂ˆÇ_„XÃ[˝ Y“W˝ÁX È[˝◊`rÙÓm◊_ Eı› ◊ªK˜_ ? Ac˜O 
a„∂ˆÇ_„XÃ[˝ B◊Tˆc˜Á◊aEı mÃ[˝”±ºˆ ◊XÃ[˝”YS EıÃ[˝”X* 

(G) "c Õ=„Ã[˝ÁY›Ã^ `◊N˛ a][˝ÁÃ^'-AÃ[˝ =dY◊w¯ [˝ÓÁFÓÁ EıÃ[˝”X* 

Ac˜O aeH EıTˆV…Ã[˝ aZı_ c˜„Ã^◊ªK˜_ ? 

(H) T ˆTˆ›Ã^ ÂX„YÁ◊_Ã^„XÃ[˝ Y“̀ Áa◊XEı X›◊TˆÃ[˝ Y^ÔÁ„_ÁªJÙXÁ 

EıÃ[˝”X* TgˆÁ„Eı ◊Eı "◊_ªRÀÙO_ ÂX„YÁ◊_Ã^X' [˝_Á ^ÁÃ^ ? 

(I¯) 1917 aÁ„_Ã[˝ Ã[˝”` ◊[˝Y¿„[˝ [˝_„`◊\ˆEı„VÃ[˝ aÁZı„_ÓÃ[˝ 

EıÁÃ[˝Sm◊_ %Á„_ÁªJÙXÁ EıÃ[˝”X* A„l˘‰y Â_◊X„XÃ[˝ 

\…ˆ◊]EıÁ ◊Eı ◊ªK˜_ ? 

(ªJÙ) =Y◊X„[˝`[˝ÁV [˝_„Tˆ Eı› Â[˝ÁMıÁÃ^ ? =Y◊X„[˝` 

◊[˝ÿôˆÁ„Ã[˝Ã[˝ ◊[˝◊\ˆ~ Y^ÔÁÃ^m◊_ ◊[˝‰`¿bS EıÃ[˝”X* 

2* Â^-ÂEıÁ„XÁ ◊TˆX◊ªRÙO Y“‰`¬Ã[˝ =w¯Ã[˝ ◊VX f 12 × 3 = 36 

(Eı) ]c˜Á„V`›Ã^ [˝Ó[˝ÿöˆÁ ◊Eı ◊ªK˜_ ? Ac˜O [˝Ó[˝ÿöˆÁ ÂX„YÁ◊_Ã^„XÃ[˝ 

YTˆ„XÃ[˝ LXÓ EıTˆFÁ◊X VÁÃ^› ◊ªK˜_ ? 

(F) %ÁY◊X ◊Eı ]„X Eı„Ã[˝X Â^ LÁ]ÔÁX›Ã[˝ BEıÓaÁW˝X aïˆ[˝ 

c˜„Ã^◊ªK˜_ Y“Á◊`Ã^ÁÃ[˝ "Ã[˝N˛ C Â_Ïc˜' X›◊TˆÃ[˝ T«ˆ_XÁÃ^ 

"EıÃ^_Á C Â_Ïc˜' X›◊TˆÃ[˝ LXÓ ? 

(G) 1848 ◊F–∫RÙOÁ„å Z–ıÁ„≥a ÂZı[˝–”Ã^Á◊Ã[˝ ◊[˝Y¿„[ Ã̋[˝ YªRÙO\…ˆ◊] 

%Á„_ÁªJÙXÁ EıÃ[˝”X* Y“E ı◊TˆGTˆ ◊VEı ÂU„Eı A◊ªRÙO ◊Eı 

1789 ◊F–∫RÙOÁ„åÃ[˝ ◊[˝Y¿[˝ ÂU„Eı Y UEı ◊ªK˜_ ? 
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(H˜) Â]ªRÙOÁÃ[˝◊XEı Eı›\ˆÁ„[˝ c˜O=„Ã[˝Á„Y Y«Ã[˝ÁTˆX [˝Ó[˝ÿöˆÁ [˝LÁÃ^ 

Ã[˝ÁF„Tˆ ÊªJÙrÙÁ Eı„Ã[˝◊ªK˜„_X ? ◊Tˆ◊X EıTˆFÁ◊X aZı_ 

c˜„Ã^◊ªK˜„_X ? 

(I¯) c Õe_ÓÁ„â¯Ã[˝ ◊`î ◊[˝Y¿„[ Ã̋[˝ a„Ü E ı◊b ◊[˝Y¿„[˝Ã[˝ a+EÔı 

◊XÃ[˝”YS EıÃ[˝”X* 

(ªJÙ) LÓÁ„EıÁ◊[˝X `Áa„XÃ[˝ E ı◊Tˆ„±ºˆÃ[˝ a]Á„_ÁªJÙXÁ]…_Eı 

%Á„_ÁªJÙXÁ EıÃ[˝”X* a‹óˆÁ„aÃ[˝ `ÁaX„Eı ◊Eı ^«◊N˛aÜTˆ 

[˝_Á ^ÁÃ^ ? 

(ªK˜) a]ÁLTˆ‹óˆ[˝ÁV [˝_„Tˆ Eı› Â[˝Á„MıX ? EıîÁ◊‹ôˆEı    

a]ÁLTˆ‹óˆ[˝ÁV›„VÃ[˝ ]Tˆ[˝ÁV %Á„_ÁªJÙXÁ EıÃ[˝”X* 

(L) G–›„aÃ[˝ ÿëˆÁW˝›XTˆÁ ^«„à˘Ã[˝ ÊY“l˘ÁYªRÙO %Á„_ÁªJÙXÁ EıÃ[˝”X* 

Ac˜O ^«à˘ Eı›\ˆÁ„[˝ [˝_EıÁX LÁTˆ›Ã^TˆÁ[˝ÁV„Eı =ï›◊YTˆ¯ 

Eı„Ã[˝◊ªK˜_ ? 

(Mı) =◊X` `Tˆ„EıÃ[˝ c˜O=„Ã[˝Á„Y E…ıªRÙOX›◊TˆÃ[˝ Y“W˝ÁX 

È[˝◊`rÙÓm◊_„Eı ◊ªJÙ◊c˜‘Tˆ EıÃ[˝”X* 

3* ae◊l˘ä ªRÙO›EıÁ ◊_F«X [˝Á ae„l˘„Y =w¯Ã[˝ ◊VX ( Â^-ÂEıÁ„XÁ 

ªJÙÁÃ[˝◊ªªRÙO )f 6 × 4 = 24 

(Eı) Y◊[˝y ªJ«Ù◊N˛ 

(F˜) ZıÃ[˝Áa› ◊[˝Y¿„[˝Ã[˝ CYÃ[˝ ]„‹ôˆï«ıÃ[˝ Y“\ˆÁ[˝ ◊Eı ◊ªK˜_ ? 

(G) "Â&X›Ã^ l˘Tˆ' [˝_„Tˆ Eı› Â[˝ÁMıÁÃ̂  ? 

(H) EıÓ\«ˆÃ[˝ 

(I¯) LÁ]ÔÁX›Ã[˝ LÁTˆ›Ã^ =VÁÃ[˝ÍX◊TˆEı V_ 

(ªJÙ) ^Á◊‹óˆEı EıÁÃ[˝FÁXÁ [˝Ó[˝ÿöˆÁ 

(ªK˜) EıÁ_Ô ]ÁjÔ 

(L) ]ÁjÔ[˝Á„V •Á◊≥•EıTˆÁ 

(Mı) ÈXÃ[˝ÁLÓ[˝ÁV 

(A’) [˝Á◊_ÔX ªJ«Ù◊N˛ (1878 F–›f) 

(ªRÙO) T ˆä Ã[˝Ár—Ù 

(Pˆ) ]«N˛ E…ıªRÙOX›◊Tˆ* 
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English Version 

1. Answer any two questions : 20 × 2 = 40 

 a) "The chief weakness of France's pre-
revolutionary form of government was 
faulty finance" (Goodwin). Examine the 
validity of the statement. 

 b) What were the main features of the Vienna 
settlement ? Determine its historical 
significance. 

 c) Explain the origin of the 'Concert of 
Europe'. How far was it successful ? 

 d) Review the administrative policy of 
Napoleon III. Is it correct to call him 'Little 
Napoleon' ? 

 e) Discuss the causes of success of the 
Bolsheviks in the Russian Revolution of 
1917 ? What was the role of Lenin in it ? 

 f) What is understood by Colonialism ? 
Explain the various phases of colonial 
expansion. 

2. Answer any three questions : 12 × 3 = 36 

 a) What was the 'continental system' ? How 
far was it responsible for the downfall of 
Napoleon ? 

 b) Would you agree with the view that the 
Unification of Germany was the result of 
precision policy of 'coal and iron' rather 
than 'blood and iron' ? 

 c) Analyse the background of the February 
Revolution (1848), in France. Was its 
nature different from that of the Revolution 
of 1789 ? 

 d) How did Metternich attempt to preserve the 
'old order' in Europe ? How far was he 
successful ? 

 e) Determine the relationship of agricultural 
revolution with Industrial Revolution in 
England. 

 f) Critically discuss the achievement of 
Jacobin administration. Can the Reign of 
Terror be justified ? 

 g) What do you mean by socialism ? Discuss 
the ideas of the Utopian socialists. 

 h) Discuss the background of the War the 
Independence in Greece. How did it 
stimulate the Balkan nationalism ? 

 i) Identify the main features of diplomacy in 
Europe in the 19th century. 
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3. Write short notes or brief answers on any four of 

the following : 6 × 4 = 24 

 a) Holly Alliance 

 b) What was the influence of Montesquieu on 

the French Revolution ? 

 c) What is meant by 'Spanish Ulcer' ? 

 d) Cavour 

 e) National Liberal Party of Germany 

 f) Mechanised Factory system 

 g) Karl Marx 

 h) Dialectic in Marxism 

 i) Anarchism 

 j) Treaty of Berlin (1878) 

 k) Satiated State 

 l) Open Diplomacy. 

    
 


